Second Paper : Cost Accounting
Time : Three Hours Maximum Marks : 100
Atempt any five questions in all, selecting one question from each unit
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UNIT-LgshTE-1
I. Whatis tha., meaning of Cost Accounting? Explain briefly the objects and
advantages of cost accounting. 6+7+7
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X Lid. is producing product. Company follows the policy of economic
order quantity (EOQ) for its one of the component. Other details regarding
this component is as follows :
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(a) Purchase price per component 400
{b) Cost of placing an order T 50
(c) Total cost of ordering and carrying inventory for one year T 4.000
(d) Annual cost of carrying one unit for one vear 10% of purchase price.
The company has offered a discount of 2% on the price of component
provided order is placed for 2,000 units of this component. Company has
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also offered that if requirement of all the units of this component is
purchased at a time, company will allow discount of 5% on the price of
this component.
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You are required to find out :

(i} Economic order quantity

{(i1) If size of order should be increased to obtain benefit of discount?
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. In a factory there are 2 identical big machines and 4 identical small

machines, each big machine occupies 1/4th area of factory and each
small machine occupies 1/8th area of factory. In each big machine 3
workers are émployed and in each small machine 2 workers are employed.
The working hours for big as well as small machines are 2,000 hours p.a.
Estimated life of big machine is 20,000 hours and estimated life of small
machine is 15,000 hours. Capital invested for each big and small machine
is ¥ 40,000 and T 20,000 respectively. Scrap value for each big and small
machine 15 T 2,000 and T 500 respectively.

The estimated cost of repairs throughout its life is ¥ 8,000 for both the big

~machines and ¥ 4,500 for each of small machines for the entire life. Power

consumption for each big machine is 6 units an hour and for each small
machine is 5 units an hour .50 Paise per unit of power. Manager gets
¥ 48.000 p.a. and devotes his time equally on all machine out of his half
of time. Balance half of time is spent for administrative jobs. Other charges
are as follows :
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Rent 60,000 p.a.
Lighting 5,600 p.a.
Insurance : Big 9,000 p.a.
Insurance : Small 6,000 p.a.

Lighting expenses are approtioned on the basis of number of workers.

Calculate machine hour rate by taking quarter (3 month) as base period.
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What is meant by Premium or Bonus Plan of Payment of Wages? Indicate

the essential features common to such system, Explain any two of such
plans giving examples. : 20
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UNIT-TI/Z&TE -1
- A cooler manufacturing concern produced and sold 500 coolers during
the year 2015 and earned a profit of ¥ 48,000. Concern expects that
demand of coolers will be much more during the vear 2016. The concern’s
records show the following particulars for the last year :
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Material 1,20.,000
Direct wages 60,000
Direct charges 10,000
Works overhead 70000
Office overhead 28,000
Selling overhead 32,000

You ascertain that 50% of the works overheads fluctuate directly with
production and 60% of the selling overheads fluctuate with sales. It is
anticipated that the concern would produce 2,500 coolers per annum and
that dierct wages per unit will be reduced by 20% while fixed works
overhead charges will increase by ¥ 30,000, office overhead and fixed
selling overhead charges are expecied 1o show an increase of 25% but
otherwise no changes are anticipated. Prepare a cost sheet showing sales
price for the year 2016 assuming that the same percentage of profit is
desired as in the last year.
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What is meant by operating costing? [n which industries is it used? Prepare

a lransport operating cost sheet with imaginary figures and discuss the
various items included in it. 5+5+10
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UNIT-IV/Z&TE -1V

- The following information is available relating to a contract for the half-

year ending 31st March, 2015 :
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Material issued 1,280,000
Wages paid 1,000,000
Plant issued on 1.10.2014 1,50.000
Supervisior’s salary paid 11,000
Cash received 3,16.800
Work uncertified {cost) 18.000
Contract price 6.00.000
Sundry expenses 6.500
Material at site 8.400

The work commended on 1.10.2014. The wages of workers for one week
and salary of supervisor for one month were due at the end of the periad.
Plant costing ¥ 5,000 and material costing ¥ 3,000 were lost on 31st
December, 2014. Plant costing T 8.000 found unsuitabole to the contract,
was sold for ¥ 6,500 on 28.2.2015. Depreciation on plant is to be charged
at the rate of 12% p.a. Material costing ¥ 5,000 was sold at a profit of
T 1,000. 90% of the value of work certified is received in cash.

Prepare Contract Account, Contractee’s Account, Work in Progress Account
and Balance Sheet on 31.3.2015. 20
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Define process-costing and explain it. Describe the general principles of

this type of costing and give its salient features. To which industries in
this method applicable? 20
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UNIT-V/Z&TE-V
. “The effect of reduction in sale price is to reduce the P/V ratio, to raise the
break-even point and to shorten the margin of safety.” Explain this
statement with the help of a numerical example. - 20
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The standard cost of material for 100 kgs. of chemical D is as follows :
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Chemical A - 30 kgs. @ T 4.00 per kg.

Chemical B - 40 kes. @ ¥ 5.00 per kg.

Chemical C - 80 kgs. @ T 6.00 per kg.

Actual cost of 500 kgs. of chemical D is as follows :
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Chemical A - 140 kgs. at a cost of T 490

Chemical B - 200 kgs. at a cost of ¥ 1,060

Chemical C - 440 kgs. at a cost of ¥ 2,860

Find material variances for 100 kg. production of chemical D.
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